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Note: (1) All the questions are compulsory
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Q : 1 Give the most correct choice to the following multiple choice questions. {10)
1) The general molecular formula of Grignard reagent is _ 7
(a) RMgX . (b) RX {c) RMgOH (d) RMgLi
2) Bimolecular elimination reaction of alkayl halide occurs via
(a) carbocation  (b) pentavalent transition state (b) free radical (d) carboanion
3) The position of _____element in modern periodic table is still a matter of dispute.
{a) He (b) Li (c)H _ dcC
4) sp?hybrid orbital has____ p-character. |
(2) 25% : (b)33.33 tc) 50% (d) 75%
5) Which of the following is conjugate base of HoPOy?
(a) HPO4* (b) POS* (c) H3PO4 (d) H*
6) __  isnotsparingly soluble salt,
(a) CdS (b) MgClz (c) ZnS (d) Non of these
7) “The degree of closeness between the measured value and most probable value”
iscalled
(a) error (b) precision (c) accuracy (d) r-eproducibi]ity
8) Rounding off the data 1.3798 to three significant figures gives
(a) 1.37 (b)1.39 () 1.40 (d)138
9) Working pH range of phenolphthalein indicator is
(a)8.3-10.0 (b)2.1-4.4 ()4.2-6.3 {d)7.2-8.8
10} non-metailic element has tendency to form mono and tri positive cations.
(a)H by 1 (c)Mg {(dy Al
Q : 2 Fill the blank by choosing appropriate option given in the bracket. (08)
1) The boiling point of cis-1,2-dichloroethene is ____ than trans-1,2-dichloroethene (lower/higher)
2) _ haslowest boiling point. (propane/n-pentane/n-butane)
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3) ___ element does not form ionic compound readily. (Mg/Be/Ca)

4) __ pair of clements does not shows diagonal relationship. ( Li-Mg/C — P/N — Ch

5) When common ion is added to saturated solution of salt, it’s solubility 7
(decreases/increases/remains constant)

6} The aqueous solution of copper sulphate is (neutral/basic/acidic)

7) Micro analysis performed with ___ amount of sam.ple. (0.001-.001 g/0.1 g or more/< 0001 g).

8) ____ method of chemical analysis is quick and more accurate. (Chemical/Instrumental).

Q : 3 Attempt any ten of the following short answers type questions. (20)

1} Give the structures and IPUAC name of any two possible isomers of CaHg

2} Give dehydrohalogenation of alky! halides.

3) List the evidence for the electrophilic addjtion mechanism.

4) The ionization energy of nitrogen is higher than expected. Explain

3) Define the terms :- (a) Periodic table (b} Modern periodic law

6) Write Mullikan’s equation for calculating electro negativity of an element.

7) Calculate solubility of Cu(103)2 in pure water. {Ksp (Cu(103)2) = 1.3 x 107].

8) Give the characteristics of buffer solutions.

9) Bronsted base may be Lewis base, but the entire Lewis base may not be Bronsted base. Explain.
- 10) Define qualitative chemical analysis and quantitative chemical analysis.

11) Give the limitations of chemical analysis.

12) List the name of methods for minimization of systematic errors.
Q : 4 Attempt any four of the following long answers type questions. (32)

1) Discuss halogenation of alkane with giving appropriate mechanism

2} Write differences between E, and E; mechanism. |

3) Define ionization ene.rgy and discuss the factors affecting the magnitude of ionization energy.
4) Describe the defects of Mendeleef’s periodic table. |

~ 5) Discuss selective precipitation with svitable example.
6) Write brief account on Lewis concept of acids and bases.
7) Give complete classification of chemical analysis and write stages of analysis.

8) The following replicate weightings were obtained; 29.8 mg, 30.2 mg, 28.6 mg and 29.7 mg.

Catculate Mean, Median and Standard deviation.
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Q: 1o [@Ascu uve 531 weud @, (1)
1) Ratettd yslaiss] et YA &
{a) RMgX (b) RX (¢c) RMgOH (d) RMgLi
2) AMesiod daldsedl RBaedia [aua ylau HIRSA w B

(a) stolltlattalol (b) Uzialaless Ustcd WU (c) Y5l YAs  (d) stellpulvileist

3) wyls wtad siesu cleclo] 2ot &% UQL [Aatedll Rua &,

(a) He (b) Li (¢)H @c

4 Sp-usesas % pcla@sd ud d.
(a) 25% (b) 33.33 (c) 50% (d) 75%

5y ol Astuiell 520 HaPOy ot dggorll Qoo 2
(a) HPOs (b) PO (c) H3POs (dy H

6) Beusicl gt otell.
(a) CdS (b MgCh (c) ZnS (d) Bl Wsuwl il

7) "HRcl et Aol dlell dedd yeat ol Rsediefl Bofl” A sdala 8.
(a) 3381 (b) udlgyls (c) AssULS L (d) Yot

8) 32l 1.3798 o AQ welyus s AGes 2y seatell  uA D
(a)1.37 - (b) 1.39 . (c) 1.40 (d) 1.38

- 9) Slolesdellot Yausell Gul pH ouAl 8. |

(a)8.3-10.0 (b)2.1 -44 (c)4.2-6.3 (d)7.2-8.8

10) g Blws teiiaet slottdatell gfd uald .
(@ H (b)1 (c) Mg (d) Al

Q: 2 sl et 2o [Aseu ude 58 vaell oo @l {08)

1) At-sisARTedlote G [0g, pledt-stSsAASeet 526Ut _____ B, e/ ay)

2) o @ lg, oot B, (Rt /Dodel/ n-02j2el)

3) _ ded dradlell w@lledls delessll sottad stell. (Mg/Be/Ca)
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Q:

1)
2
3)
4)
5)
6)
7)
8)
9

4) __ cteeloll s stenolloiet uoie eodad otefl. ( Li-Mg/C - P/N — Cl)

5) eltRoll Ucjlel GlaQHL UMtet vilalol GRH] A U ey 20l gicalc L
(U B/ad B/ x40 2 B)
6) BuR uckee] wella st Sl d. (dew/ABs,ARds)
7) WE8 [QeAngt uetdell __ ovssn gial sraun 2 B.(0.001-.001 g/0.1 g or more/< 0001 g).

8) A& [Ceanulel] ueti(d RQaaella wR ay Assu B AR 5/80 N2l

3 ol Aol usllott gsul avcttel 2w (R A £ (20)

CaHg WRIA HAClL SIETUQL A5 A Auug8lsl IPUAC ol R oty 2,

USTA Sl sug st Agot v, -

Basg3As Aatellet YBau BB 1 yarawxdlel YR s,

ASZwstoll ulollsel A e s2c ay B, M,

UEL clvAEel 53 :- (a) el Bes (b) wyEs viad Reod,

ctectoll [Cgetabgictiod ageddl 1 yellsote] uillsan e,

Cu(103) ol g wiglul sleatett Ak [Kyp (Cu(lOs)) = 1.3 x 107].

o2 alalell catells . . |

ollotes Q6o Al A S ad, udg wer ARU Ao Dords A2 At o2l wramdl

10) ABUHS A ARS Y2aAsL dall HollHs AUAB S Y250 VA 53,
1) AUARs Yeasutell Halerl 2,
12) ugldarell Al vatsal HRell us@slott ottiell YA wey Q.

Q:
1)
2)
3)
4)
3)
6)
7)
8)

4 Attempt any four of th—erfoilowing long answers type'questions. (32)
Noa Yl Bl wlld wdkeet ddlaased wd 53
Ei wal E; ylsau Gl ool dglad @ul.
Alells2QL Al cavay wllA uasllszg ABAeA YA wae secl WBeldloll 2y 53\,
Rodellgot 2yAls wad Aresoll willale] aglet 531
wiedlla uc@uotoll Aot Gerewl w2l wa 53,
AR AR Aeell AcllH UscUsiloll wdater 2,
AARAGs [Qadnige] dyel aollszo wd wa (QeAnuLott ctotssi cil,
Aot YsA et Nocami e sd; 20.8 R, 302 ARy, 28.6 Ao wa
29.7 Aldaux. L, neas uR yula Rauastedl il 53,
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